18.  —2(dg-3)= 30
~2(4g) — 2(=3) = 30

~8¢g+6= 30
-6 ~6
~8g = 24
~8¢ _ 24
-8 -8

g==3

Check: ~2(4g ~ 3) = 30
~2(4(—3) ~ ’3] = 30

-2(=12 - 1) = 30
—2(—15)— 30
30=30v

The solution is ¢ = —3.



19. 6+S5Sm+1)= 26
6+5m+5= 26
6+5m+5= 26

Sm+1l= 26
- 11 - 11
Sm= 15
Sm _ 15
5 5

= 3

Check:6 + Sim +1) =26

5
6+53+D=2%
,

6+ 54 =26
,
6+2X=26
26=26/

The solwion is m = 3.

20. Sh+21l-hy= -5
Sh+2(11)-2(h)= -5
Sh+22—-2h= -§
3+2= -5

-2 -2

= -27

3h 27

3 3

h=-9

Check: 5h + 2(11 — h) = -5

’

5(—=9) + 211 —(-9)) = -5
1

~45+ 211 +9)= -5
’

—45 + 2(20) = -5
’
~-45+40= -5
~5=-5/

The solwion is h = —9.



2. 27=3c-36-2)
27 =3¢ - 36) - 3(—-2)
27=3c~- 18+ 6¢
27=9c- 18
L8 s

&
I

w et
1]
c|® ¥

=

Check: 27 = 3¢ - 3(6 - 20)
2
27 = 3(5) - 36 - 25)]
2
27215 - 36 - 10)
?
27=15- 3-4)
2
27=15+12
n=20v
The solution is ¢ = 5.

2 -3=1-50-17)
~3=12y- 52 - 5(-1)
~3=12y- 10y + 35
~3=2y +35

=B =¥
-38=2

-8 _
2

9=y
Check: -3= 12y - 52y - 7)

32 12-19) - S[-19) - 7]
32 - 5-38-7)

32 8- 5-45)

-3 ; -228 + 225

-3=-3/

The solution is y = —19.

2. 33+ +4x-6= -4
=33) + (=30 + 4x) - 46 = -4
~9-3r+dr-U= -4
x-33= -4
1B +m

=29

Check: =33 + x) +4(x - 6) = -4
‘3(34'29]“’4(29-6)3--4
~302) + 403) 2 4
-96+92;-4

~4=-44

The solution is x = 29.

4. Sr+9)-Xl-n= 1
SN+59-2AH-2-n= 1
Sr+d5-2+2r= |

|

Tr+43=

-8 -8
Tr=-42
r_ -8
7 17
r= -6

Check: 5(r +9) =21 =r) =1
2

5(-6+9) =21 - (-6)] = 1
2

53)-2A1+6)=1

?
I5-2n=1
?
I5-14=1
=1/

The solutionisr = -6

25,45+ 2%+ k= 180

k+45= 180

-8 -8
k=135
% _ 1S
3 3
k=45

So, k= 45 and the measures of the angles of the triangle are
45U =2+45=90" and k" = 45",






